m N\—FRINVRIUF

+
o
+

=4

T

+

N

NICHIE/
INTEC

N-010173

MBE - BiF
BEGE 1 SGP(VPA0A~VPI00ADHATEEY)

W 250ALL Eidi ) S HEsBUET .

m R (B EEh - E)

J—FNo. EiEfh ESEEEA) txB d #ERbkFus C H  AB(18xE)
Q15 15A 21.7 2.0x25 | 3/8 MEx25 25 | .78 250
020 20A 27.2 2.0x25 | 3/8 1 ME<25 25 | 80 200
025 25A 34.0 2.0x25 | 3/8 MBEx25 25 83 200
032 32A 42.7 2.0x25 | 3/8 ] MBx25 25 85 160
040 4048 48.6 2.0%25 | 3/8 MBx25 25 | 88 150
050 S50A 60.5 2.0%25 [ 3/8 | MBx25 25 | 94 120
065 65A 76.3 2.6x%25 | 3/8 M10x35 25 | 98 90
080 80A 89.1 2.6x25 | 3/8 ] M10x35 2o ANaT 80
100 100A 1143 2.6%25 | 3/8 M10x35 25 | 120 80
125 125A 139.8 4,5x32 | 1/2 ] M12x45 35 | 154 40
150 150A 165.2 4.5%32 | 1/2 M12x45 35 (167 30
200 200A 2163 6.0%50 | 1/2 ] M12x45 50 | 234 e
250 250A 267.4 6.0x50  5/8 M16x50 50 | 250 _—
300 300A 3185 6.0%50 | 5/8 ] M16x50 B0 | 285 —
350 350A 3556 6.0<50 | 5/8 M16xE50 50 | 304 —
400 400A 406.4 6.0x50 | 5/8 ] M16x50 50 | 329 =
‘\~ “ 151504 'I -
== PCR/\>’FBN{3 T | N-010178
WMEE - Bif

BEGE HESZYIHE (VD/PC)  miiR (BRIEiGHHE)

J—FNo. EEi ESEEEA)  txB S C #@fdmibhrybs H  AE(158xE)
015 15A 25.7 1.8%25 | 7 | 24 M6x20 38 | 400(10x40)
020 20A 21z 1.8x25 | 7 | 24 | M6x20 41 [ 300(10%30)
025 25A 37.6 1.8%25 | 7 | 24 M6x20 44 | 200(10x%20)
032 32A 46.3 1.8x25 | 7 | 24 | M6x20 48 | 250(10%25)
040 40A 52.2 1.8x25 | 7 | 24 MEX25 51 | 130(10x13)
050 50A 64.1 1.8x25 | 7 | 24 [ MeX25 58 | 130(10x13)
065 65A 79.9 2.0%25 | 7 | 24 MB8x25 66 | 130(10x13)
080 | 80A | 927 [20x25] 7 [24 | M8x25 | 72 [ 100(10x10)
100 100A 1183 [20x25| 7 | 24 M8x25 85 | 100(10x10)
125 125A 143.8 [3.0x32] 8 [ 32 | M10x35 [107 25
150 150A 170.2  [3.0x32 | 8 | 32 | MI10x35 [120 20

A ~ \‘ “ ~ 5A-1504  154-1508 |mn
= 25 YPCRINVRI T BT ) [ N-010182

MEERE - BiE

BESE BT ZEE(VD/PC) m AT L AR(SUS304)

J—KENo. EEin BESEREE(A) txB d @kibkrur € H  AS(18xd)
015 15A 25.7 1.8x25 | 3/8 ME%20 24 | 76 | 200(10x20)
020 20A 31.2 1.8x25 [ 3/8 | M6x20 24 | 79 | 200(10%20)
025 25A 37.6 1.8%25 | 3/8 M6X20 24 | 82 | 200(10%20)
032 32A 46.3 1.8x25 [ 3/8 | M6x20 24 | 87 | 150(10%15)
040 40A 52.2 1.8%25 | 3/8 M6%25 24 | 90 | 130(10x13)
050 | 50A 641  [1.8x25[3/8 | Mex25 | 24 [ 96 | 110(10x11)
065 65A 79.9 1.8%25 | 3/8 M8x25 24 [ 104 | 130(10x13)
080 80A 92.7 1.8x25 [ 3/8 | M8x25 24 [110 [ 100(10x10)
100 100A 118.3 1.8%25 | 3/8 M8x25 24 [ 123 100(10x10)
125 125A 1438 [3.0x32 | 1/2| M10x35 | 32 | 160 25
150 150A 1702 [3.0%32 | 1/2 | M10%35 | 32 [173 20

N-010157

MEE - A&

BEGE | SGP(VP40A~VP200ALHATERT)

m B (BESERD-E) miEESAZIHEEVD/PCBEASTEET.

IJ—KENo. & EaEREEA) txB S C @fdmivhruyr H  ABMOIEx8)
015 15A 21.7 1.2%25] 8 | 23 MEx25 35 400
020 20A 7 2.0x25] 8 [ 25 | MBX25 42 350
025 25A 34.0 2.0%25 | 8 | 25 MEX25 45 250
032 32A 42.7 20%x25| 8 | 23 | M6x25 47 200
040 40A 48.6 2.0%25| 8 | 23 MEX25 50 150
050 50A 60.5 20%25| 8 | 23 | M6x25 58 140
065 65A 76.3 26X25| 8 | 25 MBx25 66 100
080 80A 89.1 26x25| 8 | 25 | MBX25 73 50
100 100A 1143 | 26x25| 8 | 25 MBx25 86 50
125 125A 139.8 3.0x32 ] 8 | 32 [ M10x30 |[105 25
150 150A 165.2 [3.0%32| 8 | 32 | MI12x35 [118 25
200 200A 2163 [3.0x32] 8 [ 32 | MI12x35 [143 15

KRB .




